)
WY |2
©
(2) 3/8" DYNABOLT HEADER ANCHORS (] I
.
W/ 1 1/2” EMBED INTO CONCRETE —I
& 2 1/4” MIN. EDGE DISTANCE Z =
OR o=
" ” DOORS ARE NOT RATED FOR IMPACT. O+ A IS}
(2) 3/8% SMS TO STEEL ) J?\)M;s/ 1 e C0 ULTRACON INSTALLATION OF THIS PRODUCT IN THE HVHZ AREA DOES REQUIRE =& olE
LM EDGE DISTANCE FRAJI—?OWIDTH W/ 1 1/2" EMBED INTO WOOD THE USE OF APPROVED SHUTTERS OR EXTERNAL PROTECTION DEVICES g2 N S
0| —
(1) 3/8% sws v & 17 M\ EDCE DISTANCE COMPLYING WITH HVHZ REQUIREMENTS. reéo 8ls
W/ 1 1/2° EMBED INTO WoOD 2" — 96 OR INSTALLATION OF THIS SYSTEM OUTSIDE THE HVHZ AREA SHALL MEET Ozy ¢
% 1" MIN. EDGE DISTANCE DOOR OPNG. WIDTH W/ 1 3/4" INTO CONCRETE/MASONRY THE APPLICABLE REQUIREMENTS FOR WIND BORNE DEBRIS PROTECTION. o Bw %
& 2 1/2” MIN. EDGE DISTANCE cot =
06ap
N~
- i i "TIOGA/SPARTAN” OUTSWING DOUBLE STEEL DOORS SYSTEM o §§g
o~ i — Zm o
T N APPROVAL APPLIES TO DOUBLE (XX) LEAF DOORS WITHOUT SIDELITES. Qez? g
4 TN &N (@] 3&0 $
N L ° ] DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER INFILTRATION < WE 3
RN 2 RESISTANCE IS REQUIRED. Ec29 o
| < u (?) L
1 THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE LzJl58
1. . REQUIREMENTS OF THE 2006 INTERNATIONAL RESIDENTIAL CODE (IRC) AND AGo%
(A . © 2006 INTERNATIONAL BUILDING CODE (IBC) SECTIONS 1405.12, 1609, <Z3s®
N 2l N 1714.5, 2403 AND 2404 WITH TEXAS REVISIONS. L
| e —
o [ TESTING PERFORMED IN ACCORDANCE WITH FLORIDA PROTOCOLS = ;
— ; ASTM E 1886—13a, ASTM E 1996—14 AND TAS—202. =0 . 3
I — ] = o
= o WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER LOADS = g 5
& L T = TO THE STRUCTURE. L= 0
., . 4 o -
rOu: s || T T T s . ] ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, ANCHORS el oL
Sw 92 el S I AT | R RATATATRTRTRTRI > © T EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. 3|2 N
= 5 1 1= 000000 il T o= N !
= © i SN 7] ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETAILS ARE NOT Sz -
& 2 ST & PART OF THIS APPROVAL. HlSE .
........ J . I S22 5
S Voo A g0 __] o A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY. W 3 98
............ 2 3
----- /--/- N T > ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON—COMPRESSIBLE. 3 ™ SRBR
2 25 2-58
R : X MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT 2l=0<37
o Y © COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE C|Zaz®R
Sy ~ o REQUIREMENTS OF THE INTL. RESIDENTIAL CODE (IRC) AND INTL. BLDG. CODE Zlsz<-]
PR S + (IBC) WITH TEXAS REVISIONS. =2
o W o
/ ............. Q 1 9 2 E ‘|_
AL ACTIVE " Lp F|DE2]
I T |1 1 R 1 lf:,)l\"o i E —2&es
| ——
3 - | | T ja— )
|-,J| /fx ] 8) 1/4’ FH ELCO ULTRACON SILL ANCHORS
: W/ 1 3/4” EMBED INTO CONCRETE
& 2 1/2" MIN. EDGE DISTANCE
C
S
S
"TIOGA/SPARTAN” OUTSWING DOUBLE STEEL DOORS ( XX ) g
WITH OR WITHOUT VIEW WINDOW %
Pd = +50.0 PSF (EXTERIOR) K
—50.0 PSF (INTERIOR) o
2l
Olo
s
FRAME TO MASONRY BUILDING o o
& J
INSTALLATION DETAILS e —
e
o
b ™
o || > -
s y
3 = o
38 3
| e—
1 -
drawing no.
NS 15—69TX
WO/ONAL S T 2
Sealed 11/8/16 o=~ sheet 1 of 6

EB C.A.N. # 3538



AutoCAD SHX Text
96"

AutoCAD SHX Text
96"

AutoCAD SHX Text
98"

AutoCAD SHX Text
98"

AutoCAD SHX Text
E

AutoCAD SHX Text
3

AutoCAD SHX Text
H

AutoCAD SHX Text
3

AutoCAD SHX Text
G

AutoCAD SHX Text
3

AutoCAD SHX Text
I

AutoCAD SHX Text
3

AutoCAD SHX Text
 

AutoCAD SHX Text
"TIOGA/SPARTAN" OUTSWING DOUBLE STEEL DOORS  ( XX )  ( XX ) WITH OR WITHOUT VIEW WINDOW Pd = +50.0 PSF (EXTERIOR) -50.0 PSF (INTERIOR)

AutoCAD SHX Text
ACTIVE            

AutoCAD SHX Text
INACTIVE            

AutoCAD SHX Text
F

AutoCAD SHX Text
3

AutoCAD SHX Text
(8) 1/4"  FH ELCO ULTRACON SILL ANCHORS W/ 1 3/4" EMBED INTO CONCRETE & 2 1/2" MIN. EDGE DISTANCE 

AutoCAD SHX Text
(2) 3/8"  DYNABOLT HEADER ANCHORSW/ 1 1/2" EMBED INTO CONCRETE & 2 1/4" MIN. EDGE DISTANCE OR (2) 3/8"  SMS TO STEEL& 1" MIN. EDGE DISTANCE OR (4) 3/8"  SMSW/ 1 1/2" EMBED INTO WOOD & 1" MIN. EDGE DISTANCE

AutoCAD SHX Text
(8) 3/16"  FH ELCO ULTRACON JAMBS ANCHORS  W/ 1 1/2" EMBED INTO WOOD & 1" MIN. EDGE DISTANCE OR W/ 1 3/4" INTO CONCRETE/MASONRY & 2 1/2" MIN. EDGE DISTANCE

AutoCAD SHX Text
DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER INFILTRATION  RESISTANCE IS REQUIRED.

AutoCAD SHX Text
THE APPLICABLE REQUIREMENTS FOR WIND BORNE DEBRIS PROTECTION.

AutoCAD SHX Text
INSTALLATION OF THIS SYSTEM OUTSIDE THE HVHZ AREA SHALL MEET

AutoCAD SHX Text
INSTALLATION OF THIS PRODUCT IN THE HVHZ AREA DOES REQUIRE

AutoCAD SHX Text
THE USE OF APPROVED SHUTTERS OR EXTERNAL PROTECTION DEVICES

AutoCAD SHX Text
COMPLYING WITH HVHZ REQUIREMENTS.

AutoCAD SHX Text
DOORS ARE NOT RATED FOR IMPACT.

AutoCAD SHX Text
%%U"TIOGA/SPARTAN" OUTSWING DOUBLE STEEL DOORS SYSTEM

AutoCAD SHX Text
APPROVAL APPLIES TO DOUBLE (XX) LEAF DOORS WITHOUT SIDELITES. 

AutoCAD SHX Text
THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE REQUIREMENTS OF THE 2006 INTERNATIONAL RESIDENTIAL CODE (IRC) AND 2006 INTERNATIONAL BUILDING CODE (IBC) SECTIONS 1405.12, 1609, 1714.5, 2403 AND 2404 WITH TEXAS REVISIONS. TESTING PERFORMED IN ACCORDANCE WITH FLORIDA PROTOCOLS ASTM E 1886-13a, ASTM E 1996-14 AND TAS-202. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE STRUCTURE. ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, ANCHORS EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETAILS ARE NOT PART OF THIS APPROVAL. A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY. ALL SHIMS TO BE HIGH IMPACT, NON-METALLIC AND NON-COMPRESSIBLE. MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT  COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE  REQUIREMENTS OF THE INTL. RESIDENTIAL CODE (IRC) AND INTL. BLDG. CODE  OF THE INTL. RESIDENTIAL CODE (IRC) AND INTL. BLDG. CODE (IBC) WITH TEXAS REVISIONS.                               

AutoCAD SHX Text
TDI APPROVAL/15-69TX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-69TX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
6

AutoCAD SHX Text
"TIOGA/SPARTAN" OS DOUBLE STEEL DOORS SYSTEM-N.I. OS DOUBLE STEEL DOORS SYSTEM-N.I.OS DOUBLE STEEL DOORS SYSTEM-N.I. DOUBLE STEEL DOORS SYSTEM-N.I.DOUBLE STEEL DOORS SYSTEM-N.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
1

AutoCAD SHX Text
1/2"=1'-0"


3/8" BOLT WITH LOCKING NUT.

BOLT MUST BE MINIMUM 3 THREADS
ENGAGEMENT BEYOND NUT. OR
A #12 OR LARGER DRILLING SCREW.
SCREWS MUST BE MINIMUM 3 THREADS
ENGAGEMENT BEYOND CHANNEL/GIRT.

~

25, 26
SEE NOTE 1

SPOT k‘
WELDED
TO FRAME

14

EXTERIOR

SEE NOTE 2
EACH SIDE.

v
VA 24
SEE NOTE 2
EACH SIDE.

24

SPOT WELDED

FRAME TO METAL BUILDING

3/8”"DIA. BOLT WITH LOCKING NUT.

BOLT MUST BE MINIMUM 3 THREADS
ENGAGEMENT BEYOND NUT. OR /
3/8"DIA. LARGER DRILLING SCREW,

X 3 / N—44

8) 1/4° FH ELCO ULTRACON ANCHOR
WITH 1 3/4” INTO CONCRETE

8) 1/4" FH ELCO ULTRACON ANCHOR
WITH 2 1/2” MIN. EDGE DISTANCE

WITH 1 3/4” INTO CONCRETE
WITH 2 1/2” MIN. EDGE DISTANCE

INSTALLATION DETAILS

FRAME TO WOOD BUILDING

14
INTERIOR f

16 ~J
TO FRAME <

23 OR 32

CORNER CONSTRUCTION DETAIL

<

22— 14— |

INTERIOR

o

.
e

Y%

<

SEE NOTE 3|

| o~
EXTERIOR
FLOOR BASE ANGLE DETAIL

>>—24

SEE NOTE 2

EXTERIOR

JAMB EXTENSION ASSEMBLY DETAIL

INSTALLATION DETAILS

SEE NOTE 2
EACH SIDE.

NOTES:

1)

2)

3)

4)

5)

6)

FOR ANCHORING KNOCK DOWN FRAME HEAD JAMB TO FRAME HINGE JAMB AND FRAME STRIKE JAMB 16GA. (.053” MIN.) STEEL FRAMING
USE (2 PER SIDE) 1/4” TO 1/2" DIAMETER STEEL BOLT WITH MATING SELF LOCKING NUT. BOLT TO BE OF SUFFICIENT LENGTH TO
ACHIEVE 3—THREADS MINIMUM BEYOND NUT. LOCATE AND ANCHOR AS SHOWN IN CORNER CONSTRUCTION DETAIL.

FOR ANCHORING JAMB EXTENSION ASSEMBLY TO 16GA. (.053" MIN.) STEEL FRAMING HINGE AND STRIKE JAMBS, USE (4 PER CHANNEL)
#12 OR LARGER DRILLING SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 3—THREADS MINIMUM BEYOND ANCHOR CHANNELS. LOCATE AND
ANCHOR AS SHOWN IN JAMB EXTENSION ASSEMBLY DETAIL.

FOR ANCHORING FLOOR BASE ANGLE OF FRAME HINGE AND STRIKE JAMBS ONTO CONCRETE USE (2 PER JAMB) 3/8" TO 1/2" DIAMETER

WEDGE BOLTS OF SUFFICIENT LENGTH TO ACHIEVE 2" MINIMUM EMBEDMENT INTO CONCRETE WITH 4 1/2" MINIMUM EDGE DISTANCE OR SNy,
(2 PER SIDE) 5/16” TO 1/2" DIAMETER HEX WASHER HEAD TAPCON SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1-3/4" MINIMUM --"‘".-E OF TE\\\
EMBEDMENT INTO CONCRETE WITH 3-3/16” MINIMUM EDGE DISTANCE (ADD WASHER IF NEEDED). LOCATE AND ANCHOR AS SHOWN IN “,.-- . \
FLOOR BASE ANGLE DETAIL.

FOR ANCHORING THRESHOLD ONTO CONCRETE USE 3/16” DIAMETER FLAT HEAD TAPCON SCREWS WITH SUFFICIENT LENGTH TO ACHIEVE
A 1-3/4” MINIMUM EMBEDMENT INTO CONCRETE WITH 2-5/8" MINIMUM EDGE DISTANCE.
LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS.

INSTALLATION ANCHORS AND HARDWARE SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S INSTALLATION INSTRUCTIONS AND
SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BELOW:

A, STEEL FRAMING: 16GA. (.053" MIN.)

B. CONCRETE: MINIMUM COMPRESSIVE STRENGTH 3,192 PSI.

PRE—ASSEMBLED FRAME CONFIGURATION SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S INSTALLATION INSTRUCTIONS. NP
Sealed 11/8/16™"\

%

TDI APPROVAL/15—69TX J

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

(

|

INC.

TELL MANUFACTURING,
LITITZ,
1-717-625-2990

18 RICHARD DRIVE .
TOLL FREE: 1-800-433—4047 .
FAX: 1-BB8—370-3253

PENNSYLVANIA 17543

E'TIOGA/SPARTAN"OS DOUBLE STEEL DOORS SYSTEM—N.U

|

)

by [ description

(revisions:
(hol date

{

9-23-16

date:

—

drawing no.

15—69TX

EB C.A.N. # 3538



AutoCAD SHX Text
3/8" BOLT WITH LOCKING NUT. BOLT MUST BE MINIMUM 3 THREADS ENGAGEMENT BEYOND NUT. OR #12 OR LARGER DRILLING SCREW. SCREWS MUST BE MINIMUM 3 THREADS ENGAGEMENT BEYOND CHANNEL/GIRT.

AutoCAD SHX Text
24 SEE NOTE 2 EACH SIDE.

AutoCAD SHX Text
24 SEE NOTE 2 EACH SIDE.

AutoCAD SHX Text
%%UFLOOR BASE ANGLE DETAIL

AutoCAD SHX Text
%%UEXTERIOR

AutoCAD SHX Text
%%UINTERIOR

AutoCAD SHX Text
%%UINTERIOR

AutoCAD SHX Text
%%UEXTERIOR

AutoCAD SHX Text
%%UEXTERIOR

AutoCAD SHX Text
CORNER CONSTRUCTION DETAIL

AutoCAD SHX Text
%%UJAMB EXTENSION ASSEMBLY DETAIL

AutoCAD SHX Text
%%UINTERIOR

AutoCAD SHX Text
22

AutoCAD SHX Text
14

AutoCAD SHX Text
16 SPOT WELDED TO FRAME

AutoCAD SHX Text
14

AutoCAD SHX Text
24 SEE NOTE 2

AutoCAD SHX Text
10 CLIP IS SPOT WELDED TO FRAME

AutoCAD SHX Text
25, 26 SEE NOTE 1

AutoCAD SHX Text
23 OR 32 SEE NOTE 3

AutoCAD SHX Text
3/8"DIA. BOLT WITH LOCKING NUT. BOLT MUST BE MINIMUM 3 THREADS ENGAGEMENT BEYOND NUT. OR 3/8"DIA. LARGER DRILLING SCREW.

AutoCAD SHX Text
18 

AutoCAD SHX Text
18 

AutoCAD SHX Text
18 

AutoCAD SHX Text
18 

AutoCAD SHX Text
24 SEE NOTE 2 EACH SIDE.

AutoCAD SHX Text
NOTES: 1) FOR ANCHORING KNOCK DOWN FRAME HEAD JAMB TO FRAME HINGE JAMB AND FRAME STRIKE JAMB 16GA. (.053" MIN.) STEEL FRAMING FOR ANCHORING KNOCK DOWN FRAME HEAD JAMB TO FRAME HINGE JAMB AND FRAME STRIKE JAMB 16GA. (.053" MIN.) STEEL FRAMING USE (2 PER SIDE) 1/4" TO 1/2" DIAMETER STEEL BOLT WITH MATING SELF LOCKING NUT. BOLT TO BE OF SUFFICIENT LENGTH TO ACHIEVE 3-THREADS MINIMUM BEYOND NUT. LOCATE AND ANCHOR AS SHOWN IN CORNER CONSTRUCTION DETAIL. 2) FOR ANCHORING JAMB EXTENSION ASSEMBLY TO 16GA. (.053" MIN.) STEEL FRAMING HINGE AND STRIKE JAMBS, USE (4 PER CHANNEL) FOR ANCHORING JAMB EXTENSION ASSEMBLY TO 16GA. (.053" MIN.) STEEL FRAMING HINGE AND STRIKE JAMBS, USE (4 PER CHANNEL) #12 OR LARGER DRILLING SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 3-THREADS MINIMUM BEYOND ANCHOR CHANNELS. LOCATE AND ANCHOR AS SHOWN IN JAMB EXTENSION ASSEMBLY DETAIL. 3) FOR ANCHORING FLOOR BASE ANGLE OF FRAME HINGE AND STRIKE JAMBS ONTO CONCRETE USE (2 PER JAMB) 3/8" TO 1/2" DIAMETER FOR ANCHORING FLOOR BASE ANGLE OF FRAME HINGE AND STRIKE JAMBS ONTO CONCRETE USE (2 PER JAMB) 3/8" TO 1/2" DIAMETER WEDGE BOLTS OF SUFFICIENT LENGTH TO ACHIEVE 2" MINIMUM EMBEDMENT INTO CONCRETE WITH 4 1/2" MINIMUM EDGE DISTANCE OR (2 PER SIDE) 5/16" TO 1/2" DIAMETER HEX WASHER HEAD TAPCON SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1-3/4" MINIMUM EMBEDMENT INTO CONCRETE WITH 3-3/16" MINIMUM EDGE DISTANCE (ADD WASHER IF NEEDED). LOCATE AND ANCHOR AS SHOWN IN FLOOR BASE ANGLE DETAIL. 4) FOR ANCHORING THRESHOLD ONTO CONCRETE USE 3/16" DIAMETER FLAT HEAD TAPCON SCREWS WITH SUFFICIENT LENGTH TO ACHIEVE FOR ANCHORING THRESHOLD ONTO CONCRETE USE 3/16" DIAMETER FLAT HEAD TAPCON SCREWS WITH SUFFICIENT LENGTH TO ACHIEVE A 1-3/4" MINIMUM EMBEDMENT INTO CONCRETE WITH 2-5/8" MINIMUM EDGE DISTANCE. LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS. 5) INSTALLATION ANCHORS AND HARDWARE SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S INSTALLATION INSTRUCTIONS AND INSTALLATION ANCHORS AND HARDWARE SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S INSTALLATION INSTRUCTIONS AND SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BELOW: A. STEEL FRAMING: 16GA. (.053" MIN.) STEEL FRAMING: 16GA. (.053" MIN.) B. CONCRETE: MINIMUM COMPRESSIVE STRENGTH 3,192 PSI. CONCRETE: MINIMUM COMPRESSIVE STRENGTH 3,192 PSI. 6) PRE-ASSEMBLED FRAME CONFIGURATION SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S INSTALLATION INSTRUCTIONS.PRE-ASSEMBLED FRAME CONFIGURATION SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S INSTALLATION INSTRUCTIONS.

AutoCAD SHX Text
(8) 1/4"  FH ELCO ULTRACON ANCHOR WITH 1 3/4" INTO CONCRETE WITH 2 1/2" MIN. EDGE DISTANCE 

AutoCAD SHX Text
(8) 1/4"  FH ELCO ULTRACON ANCHOR WITH 1 3/4" INTO CONCRETE WITH 2 1/2" MIN. EDGE DISTANCE 

AutoCAD SHX Text
44

AutoCAD SHX Text
44

AutoCAD SHX Text
TDI APPROVAL/15-69TX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-69TX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
6

AutoCAD SHX Text
"TIOGA/SPARTAN" OS DOUBLE STEEL DOORS SYSTEM-N.I. OS DOUBLE STEEL DOORS SYSTEM-N.I.OS DOUBLE STEEL DOORS SYSTEM-N.I. DOUBLE STEEL DOORS SYSTEM-N.I.DOUBLE STEEL DOORS SYSTEM-N.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
2


(X169—G |1 /TVAQ¥ddY 1L Nl ] £GC£—0L£—888—1 :XVd ] #a ol 2 < o
- . 0662—G29—LLL—| * L¥O¥P—SCP—008—1 3344 TIOL g =
U 8269-¢9¢ (S0€) "XVvd 00T8-v9¢C Amn.umv 3L S¥G/ 1L VINVATASNNIG o _...nlV
.* oze mh_:mwhww«_mmﬂoh_w_m_”__mw__w_w_mﬂ ‘ ZULN © 3AMA GHVHOIY 81 2 O fim
INIINJOTIAIA LONAO0Hd 72 SHIAANIODNI QZ_ OZ_W_Dn_uOd\Il_DZ{_\/_ I_I_m|_| CO_HQCOmm_U >D 5155 Tou M _R_u ..m_w.
€ NOoILYHOdHO0D DOOoHVA-1V (IN-N3LSAS S¥000 T3S 318100 SO NYLUVAS/VO0IL| J¢ suosne)|)| 96 e 7 — ||
o) O 3 Py WQWW/.
- et el \
0 O © Q 0 \\......xw,o.u M ..AWG\\\.-
Wi iZio oo
’ 7= T %Y
“W“ <L 2iLY)
e QIS &i57
g y 2 3 o 2T 597
o — o T ..ﬂ\%.... i m.....mu.n\@..ﬂnb
- : ¥ xi \ipR s o
2 _I . M - foo)
© Il’/. L xX
m ~
©
S \\ N [ : E
(0]
~ »n
(e}
- «
iuu
/ pd
O
i 5
e
wn
/ 1 %
T w)
~ g
=
b 2
o g
=z
N
Al m
O
/ =
M fg]
- ©
_/aV
~ 2 N\ ©
= o <
=
(@)
< — L
<\ :
Ll
F @ a1 7 mloo | =
1 = = .-. % %
Val@ 7 @ U @ ? m I TLJF
i cru [ © ~ 2 < L
| <
/ | L E
7 AN [ [ 0O
\ / Pl M
@) O L
—
e 00,02 N ;
N \ . m
- / -
. Bl
|EVEA| I R | I | N A |

SECTION E-E

SECTION F—F

VERTICAL CROSS SECTION

EB C.A.N. # 3538


AutoCAD SHX Text
SECTION E-E

AutoCAD SHX Text
SECTION F-F

AutoCAD SHX Text
43

AutoCAD SHX Text
%%UVERTICAL CROSS SECTION

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
8

AutoCAD SHX Text
15 OR 27

AutoCAD SHX Text
21

AutoCAD SHX Text
3, 3A

AutoCAD SHX Text
11

AutoCAD SHX Text
1, 2

AutoCAD SHX Text
17

AutoCAD SHX Text
SECTION G-G

AutoCAD SHX Text
%%UHORIZONTAL CROSS SECTION

AutoCAD SHX Text
11

AutoCAD SHX Text
1, 2

AutoCAD SHX Text
24

AutoCAD SHX Text
18

AutoCAD SHX Text
29

AutoCAD SHX Text
SECTION H-H

AutoCAD SHX Text
SECTION I-I

AutoCAD SHX Text
14

AutoCAD SHX Text
11

AutoCAD SHX Text
18

AutoCAD SHX Text
29

AutoCAD SHX Text
22

AutoCAD SHX Text
16

AutoCAD SHX Text
1, 2

AutoCAD SHX Text
22

AutoCAD SHX Text
24

AutoCAD SHX Text
E

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
F

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
12

AutoCAD SHX Text
11

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
%%UDOOR LEAF DETAIL

AutoCAD SHX Text
TDI APPROVAL/15-69TX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-69TX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
6

AutoCAD SHX Text
"TIOGA/SPARTAN" OS DOUBLE STEEL DOORS SYSTEM-N.I. OS DOUBLE STEEL DOORS SYSTEM-N.I.OS DOUBLE STEEL DOORS SYSTEM-N.I. DOUBLE STEEL DOORS SYSTEM-N.I.DOUBLE STEEL DOORS SYSTEM-N.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
3


)
(O]}
Y 3
[le]
© >
— . N
[o o] | ]}
BILL OF MATERIAL & S E
Or 89
ITEM No. [PART NUMBER | DESCRIPTION MATERIAL QTY. :f u § o
<
1 MSD72235 | METAL BUILDING DOOR FRAME (4 1/4” & 5 3/4” WIDTH) 3.21" x 0.054" THK. 16GA GALVANNEAL STEEL 1 xs oy
(2) HINGE JAMBS & (1) HEAD JAMB PER ASSEMBLY oz S 8&le
2 MSD72232 | HEADER/JAMB FRAME 2.67" x 5.86" x 0.059” THK. 16GA GALVANNEAL STEEL 1 Azl x
3 DT101228 | THRESHOLD 0.5” x 4.25" x 0.090" THK. x 96" 6063—T5 ALUMINUM | 1 xoe =&
3A | DT101234 | THRESHOLD 0.5 x 5.75" x 0.090" THK. x 96" 6063—T5 ALUMINUM OLzo
4 MSD10027 | HINGE REINFORCEMENT 1.25” x 10.00" x 0.180" THK. COLD ROLLED STEEL| 8 02 u N
5 MSD21808 | BOTTOM DOOR SKIN 47 3/4” x 95 1/8" (16GA) GALVANNEAL STEEL 1 oo >0
6 MSD21808 | TOP DOOR SKIN 47 3/4” x 95 1/8" (16GA) GALVANNEAL STEEL 1 S VK
7 MMD10205 | TOP CAP 0.70” x 1.54” x .038”" THK. GALVANNEAL STEEL 1 I 89
8 MSD10223 | DOOR CHANNEL 47.5" x 1.68” x .055" THK. GALVANNEAL STEEL 2 x ¢ 9o &
9 MSD10091 | CYLINDRICAL LOCK REINFORCEMENT 1.65” x 6.69” x 3.80” x 0.54" THK. 16GA COLD ROLLED STEEL | 1 < RS
10 | MSD70048 |FRAME CLIP 5.54” x 1.45” x 1.43" x 0.097” THK. 12GA SPOT WELDED TO JAMBS GALVANNEAL STEEL 2 HARDWARE SCHEDULE wz? g8
11 MSD10005 | FOAM CORE 44.00” x 91.00” x 1.688”" THK. — 0.733 LB/FT> DENSITY POLYSTYRENE FOAM | 1 FRAVE 76 oA (STEED) NG0% 5
12 MMD10347 | DOOR CLOSER REINFORCEMENT 7.00" x 19.50” (16GA) STEEL SHEET GALVANNEAL STEEL 2 DOOR 16 GA' STEEL <EREE
13 | MSD10068 | MORTISE LOCK REINFORCEMENT 5.00” x 1.50" x 11.93" x 0.067" THK. 15GA COLD ROLLED STEEL | 1 ( ) L
14 MSD10564 | ASTRAGAL 14GA 2.00” x 95.13” OVERLAP STRIP (BLADE), 16GA EDGE CHANNEL (STILE REINF.) GALVANNEAL STEEL 1 REINFORCEMENT | 16 GA 7.00" x 19.50" LONG GALVANNEALED STEEL CLOSER REINFORCEMENT —
15 - #8 x 1" SELF DRILLING SCREWS (NOT SUPPLIED) STEEL 6 > = °
16 - HINGE FLOOR BASE ANGLE CLIP 12GA GALVANNEAL STEEL 2 CORE 1 11/16" THK. EPS FOAM uz'J O 2
] N
12 35188831 mﬁgg Ef 1S}F;|"P LT115;2"(18) EALVANNEAL STEEL ; HINGE (8) 4" x 43" (4/PANEL STEEL SQUARE HINGES) 2= 9
- X - » ” » wn N
1.25” x 10" x 0.180" THK. (COLD ROLLED STEEL) HINGE REINFORCEMENT & ©
19 - ML1300 SERIES HEAVY DUTY COMMERCIAL GRADE 1 MORTISE LOCKSET - 1 REINFORCEMENT | 1 *38, © 1.13" x 0.050” THK. STRIKE PLATE. REINFORCEMENT 2|5 i
20 — 9100 SERIES MORTISE EXIT DEVICE WITH PANIC DOOR EXIT AND KEYED ESCUTCHEON TRIM — 1 2= N
21 MMD10203 | DOOR SWEEP 0.61” x 1.35” x 0.083"” THK. TP 35.75” 6063—T6 ALUMINUM | 1 LOCK 8400 SERIES HEAVY DUTY COMMERCIAL GRADE 1 cl=EN L
22 MSD10259 | JAMB EXTENSION ASSEMBLY 4.93” x 4.10” x 19.50” x 0.100” THK. GALVANNEAL STEEL 4 RIM PANIC DOOR EXIT W/ KEYED ESCUTCHEON TRIM o & E .
22A | MSD10206 | JAMB EXTENSION CHANNEL 2.37” x 4.05" x 16.00" x 0.054" THK. CALVANNEAL STEEL ML1300 SERIES HEAVY DUTY COMMERCIAL GRADE 1 MORTISE LOCKSET 7] ==
22B | MSD10236 | JAMB EXTENSION CLIP 1.68” x 4.93” x 10.25” x 0.100” THK. GALVANNEAL STEEL - O 3%
23 - 3/8"8 TO 1/2"8 x 2—1/4" DYNABOLT STUD ANCHOR FOR CONCRETE - 4 (2) 3/8” DIA. SURFACE BOLTS (INACTIVE LEAF) W/ D (<Cwo h
24 - #12 x 17 SELF DRILLING SCREW (NOT SUPPLIED) STEEL 24 (2) SUPPORTS @ B” 0.C. USING (2) # 12 SMS/SUPPORT 3 % Z-78
” ” 0 e}
25 - 1/4’6 TO 1/2"¢ x 3/4" HEX BOLT STEEL 12 REINFORCEMENT | (2) 5.00” x 1.50” x 12.00” x 0.067" THK. (COLD ROLLED STEEL) =<8y
26 - 1/4"¢ T0 1/2"¢ HEX NUT SELF LOCKING STEEL TO MATCH ITEM 25 STEEL 12 MORTISE LOCK REINFORCEMENT. << a <Z( ‘?B
27 - #10 x 1” SELF DRILLING SCREW (NOT SUPPLIED) STEEL 8 " ~ - Sl=sxz<-0
28 - STRIKE_PLATE — TO MATCH HARDWARE OPTION AS SPECIFIED - 1 1,507 x 10007 x 0.0097 THK. (126A COLD ROLLED STEEL) A REST T
29 - #12 — 24 x 3/8" PHILLIPS FLAT HEAD COUNTERSUNK MACHINE SCREW STEEL, FOR HINGES STEEL 32 o % QT
30 - 3/16"¢ x 1-3/4" PHILLIPS FLAT HEAD COUNTERSUNK TAPCON CONCRETE SCREW (NOT SUPPLIED) STEEL 5 7.00" x 19.50” x 0.069” THK. (GALVANNEAL STEEL) Slo-z2x
31 DT101278 | SURFACE BOLT - 2 INACTIVE LEAF REINFORCEMENT 2= o2
32 - 5/16"¢ TO 1/2"8 x 1—3/4" HEX WASHER HEAD TAPCON CONCRETE SCREW (NOT SUPPLIED) STEEL 4 ASTRAGAL ,, ,, e —
33 | MSD10061 | HINGE REINFORCEMENT COVER 1.66” x 0.84” x 10.13” x 0.024” THK. COLD ROLLED STEEL| # éfmGﬁL é‘{ﬁ_’é %S%F xc?\E\'/l\ilNl-:oAvLERsLT/?-:F;:STRIP (BLADE), 16GA EDGE T, ~
34 | MSD10090 |STRIKE PLATE REINFORCEMENT 1.38” x 6.50” x 1.13" x 0.059” THK. 16GA COLD ROLLED STEEL | 1 ASSEVBLY 295" < 410" = 1950° < 0.100° THK
35 | MSD10006 |2 PART ADHESVE, REZ-CURE EP882 BY INNOVATIVE RASIN SYSTEM, INC. EPOXY RESIN 2 99 x 479 x 1900 x 010V :
MSD10033 JAMB EXTENSION [ CHANNEL 2.37" x 4.05” x 16.00” x 0.054” THK.
36 DT100852 | ANCHOR 1.58” x 2.50” x 7.00” x 0.048" THK. COLD ROLLED STEEL | 4 CLIP 1.68" x 4.93" x 10.25" x 0.100" THK.
37 | SD100087 | ANCHOR 0.95" x 2.05" x 700" x 0.052" THK. COLD ROLLED STEEL| 2 VIEW WINDOW 25 3/4” x 31 3/4" WHITE IG INSULATED GLASS UNIT LITE KIT c
38 — 1/4” x 3/4” HEX HEAD MACHINE BOLTS (HH MB) AND LOCK NUTS THRU FRAME CLIPS STEEL 2 BY NATIONAL GUARD PRODUCTS %
39 - #8 x 3 1/2" NALS STEEL 16 <
40 - 3/8” x 4" WOOD LAG BOLT STEEL 2 @
41 MSD10322 | 1.50” x 10.00” x 0.099” THK. SURFACE BOLT KEEPER REINFORCEMENT COLD ROLLED STEEL | 4 ©
42 | MSD10347 | INACTIVE LEAF REINFORCEMENT 7.00” x 19.50" x 0.069" THK. GALVANNEAL STEEL 3 3]
43 - 1/4"% x 2—1/4" PHILLIPS FLAT HEAD ELCO TAPCON CONCRETE SCREW (NOT SUPPLIED) STEEL 8 .
44 | SD101546 |25 3/4” x 31 3/4” WHITE IG INSULATED GLASS UNIT LITE KIT BY NATIONAL GUARD PRODUCTS STEEL 1 she
&l
>
5Je
1\\.\\'\\\\ k—’( A ;
el
'-pﬁe ..O-[:..T ,Jr\‘\l
Fow T et |l e
7 % R
7 x 2wl S
L e eeraeenn el b
JAVAD AHMAD 1 & 4
’.-..:......-u......-.".-.....:-u. B G
t‘ o 106516 2 | e——
‘ R Sy (drawing _no. )
'. QO"-. o o "\éb.#" rawing no.
WS /CENSER SN || 15—69TX
‘\\{9 0 -'\}KL 6“}_...-' )
Sealed 11/8/16 SN~~~ sheet 4 of 6

EB C.A.N. # 3538



AutoCAD SHX Text
ITEM No. No.No.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
HINGE REINFORCEMENT 1.25" x 10.00" x 0.180" THK.

AutoCAD SHX Text
8

AutoCAD SHX Text
BOTTOM DOOR SKIN 47 3/4" x 95 1/8" (16GA)  16GA)  

AutoCAD SHX Text
1

AutoCAD SHX Text
TOP DOOR SKIN 47 3/4" x 95 1/8" (16GA)  47 3/4" x 95 1/8" (16GA)  16GA)  

AutoCAD SHX Text
1

AutoCAD SHX Text
TOP CAP 0.70" x 1.54" x .038" THK.

AutoCAD SHX Text
1

AutoCAD SHX Text
DOOR CHANNEL 47.5" x 1.6" x .055" THK.

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
FRAME CLIP 5.54" x 1.45" x 1.43" x 0.097" THK. 12GA SPOT WELDED TO JAMBS

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
DOOR CLOSER REINFORCEMENT 7.00" x 19.50" (16GA) STEEL SHEET

AutoCAD SHX Text
2

AutoCAD SHX Text
MORTISE LOCK REINFORCEMENT 5.00" x 1.50" x 11.93" x 0.067" THK. 15GA

AutoCAD SHX Text
1

AutoCAD SHX Text
ASTRAGAL 14GA 2.00" x 95.13" OVERLAP STRIP (BLADE), 16GA EDGE CHANNEL (STILE REINF.)

AutoCAD SHX Text
1

AutoCAD SHX Text
#8 x 1"  SELF DRILLING SCREWS (NOT SUPPLIED)SELF DRILLING SCREWS (NOT SUPPLIED) (NOT SUPPLIED)

AutoCAD SHX Text
6

AutoCAD SHX Text
HINGE FLOOR BASE ANGLE CLIP 12GA

AutoCAD SHX Text
2

AutoCAD SHX Text
WEATHER STRIP LP1153 (18')

AutoCAD SHX Text
1

AutoCAD SHX Text
HINGE 4-1/2" x 4-1/2"

AutoCAD SHX Text
8

AutoCAD SHX Text
ML1300 SERIES HEAVY DUTY COMMERCIAL GRADE 1 MORTISE LOCKSET

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
DOOR SWEEP 0.61" x 1.35" x 0.083" THK. TP 35.75"

AutoCAD SHX Text
1

AutoCAD SHX Text
JAMB EXTENSION ASSEMBLY 4.93" x 4.10" x 19.50" x 0.100" THK.

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
#12 x 1" SELF DRILLING SCREW (NOT SUPPLIED)

AutoCAD SHX Text
24

AutoCAD SHX Text
STRIKE PLATE - TO MATCH HARDWARE OPTION AS SPECIFIED

AutoCAD SHX Text
12

AutoCAD SHX Text
1/4"  TO 1/2"  HEX NUT SELF LOCKING STEEL TO MATCH ITEM 25

AutoCAD SHX Text
12

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
32

AutoCAD SHX Text
5

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
#12 - 24 x 3/8" PHILLIPS FLAT HEAD COUNTERSUNK MACHINE SCREW STEEL, FOR HINGES

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
17

AutoCAD SHX Text
18

AutoCAD SHX Text
19

AutoCAD SHX Text
20

AutoCAD SHX Text
21

AutoCAD SHX Text
22

AutoCAD SHX Text
23

AutoCAD SHX Text
24

AutoCAD SHX Text
25

AutoCAD SHX Text
26

AutoCAD SHX Text
27

AutoCAD SHX Text
28

AutoCAD SHX Text
29

AutoCAD SHX Text
30

AutoCAD SHX Text
31

AutoCAD SHX Text
32

AutoCAD SHX Text
CYLINDRICAL LOCK REINFORCEMENT 1.65" x 6.69" x 3.80" x 0.54" THK. 16GA 

AutoCAD SHX Text
1/4"  TO 1/2"  x 3/4" HEX BOLT

AutoCAD SHX Text
SURFACE BOLT

AutoCAD SHX Text
#10 x 1" SELF DRILLING SCREW (NOT SUPPLIED)

AutoCAD SHX Text
3/16"  x 1-3/4" PHILLIPS FLAT HEAD COUNTERSUNK TAPCON CONCRETE SCREW (NOT SUPPLIED)

AutoCAD SHX Text
5/16"  TO 1/2"  x 1-3/4" HEX WASHER HEAD TAPCON CONCRETE SCREW (NOT SUPPLIED)

AutoCAD SHX Text
3/8"  TO 1/2"  x 2-1/4" DYNABOLT STUD ANCHOR FOR CONCRETE

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
33

AutoCAD SHX Text
34

AutoCAD SHX Text
35

AutoCAD SHX Text
STRIKE PLATE REINFORCEMENT 1.38" x 6.50" x 1.13" x 0.059" THK. 16GA

AutoCAD SHX Text
HINGE REINFORCEMENT COVER 1.66" x 0.84" x 10.13" x 0.024" THK.

AutoCAD SHX Text
2 PART ADHESIVE, REZ-CURE EP882 BY INNOVATIVE RASIN SYSTEM, INC.

AutoCAD SHX Text
FOAM CORE 44.00" x 91.00" x 1.688" THK. - 0.733 LB/FT³ DENSITY DENSITY

AutoCAD SHX Text
PART NUMBER

AutoCAD SHX Text
MATERIAL

AutoCAD SHX Text
MSD10006 MSD10033

AutoCAD SHX Text
MSD10090

AutoCAD SHX Text
MSD10061

AutoCAD SHX Text
-

AutoCAD SHX Text
DT101278

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
MSD10259

AutoCAD SHX Text
MMD10203

AutoCAD SHX Text
-

AutoCAD SHX Text
HG100034

AutoCAD SHX Text
DT100631

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
MSD10564

AutoCAD SHX Text
MSD10068

AutoCAD SHX Text
MMD10347

AutoCAD SHX Text
MSD10005

AutoCAD SHX Text
MSD70048

AutoCAD SHX Text
MSD10091

AutoCAD SHX Text
MSD10223

AutoCAD SHX Text
MMD10205

AutoCAD SHX Text
MSD21808

AutoCAD SHX Text
MSD21808

AutoCAD SHX Text
MSD10027

AutoCAD SHX Text
MSD72232

AutoCAD SHX Text
MSD72235

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
POLYSTYRENE FOAM

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
6063-T6 ALUMINUM

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
EPOXY RESIN

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
36

AutoCAD SHX Text
1/4" x 3/4" HEX HEAD MACHINE BOLTS (HH MB) AND LOCK NUTS THRU FRAME CLIPS 

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
2

AutoCAD SHX Text
37

AutoCAD SHX Text
ANCHOR 0.95" x 2.05" x 7.00" x 0.052" THK.

AutoCAD SHX Text
SD100081

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
4

AutoCAD SHX Text
METAL BUILDING DOOR FRAME (4 1/4" & 5 3/4" WIDTH) 3.21" x 0.054" THK. 16GA (2) HINGE JAMBS & (1) HEAD JAMB PER ASSEMBLY

AutoCAD SHX Text
ANCHOR 1.58" x 2.50" x 7.00" x 0.048" THK.

AutoCAD SHX Text
DT100852

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
4

AutoCAD SHX Text
38

AutoCAD SHX Text
#8 x 3 1/2" NAILS

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
39

AutoCAD SHX Text
16

AutoCAD SHX Text
3/8" x 4" WOOD LAG BOLT

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
40

AutoCAD SHX Text
2

AutoCAD SHX Text
THRESHOLD 0.5" x 5.75" x 0.090" THK. x 96" 

AutoCAD SHX Text
3A

AutoCAD SHX Text
DT101234

AutoCAD SHX Text
6063-T5 ALUMINUM

AutoCAD SHX Text
1.50" x 10.00" x 0.099" THK.  SURFACE BOLT KEEPER REINFORCEMENT 

AutoCAD SHX Text
MSD10322

AutoCAD SHX Text
41

AutoCAD SHX Text
COLD ROLLED STEEL

AutoCAD SHX Text
4

AutoCAD SHX Text
INACTIVE LEAF REINFORCEMENT 7.00" x 19.50" x 0.069" THK.  

AutoCAD SHX Text
MSD10347

AutoCAD SHX Text
42

AutoCAD SHX Text
3

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
JAMB EXTENSION CHANNEL 2.37" x 4.05" x 16.00" x 0.054" THK.

AutoCAD SHX Text
MSD10206

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
JAMB EXTENSION CLIP 1.68" x 4.93" x 10.25" x 0.100" THK.

AutoCAD SHX Text
MSD10236

AutoCAD SHX Text
GALVANNEAL STEEL

AutoCAD SHX Text
22A

AutoCAD SHX Text
22B

AutoCAD SHX Text
THRESHOLD 0.5" x 4.25" x 0.090" THK. x 96" 

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
DT101228

AutoCAD SHX Text
6063-T5 ALUMINUM

AutoCAD SHX Text
HEADER/JAMB FRAME 2.67" x 5.86" x 0.059" THK. 16GA

AutoCAD SHX Text
8

AutoCAD SHX Text
43

AutoCAD SHX Text
1/4"  x 2-1/4" PHILLIPS FLAT HEAD ELCO TAPCON CONCRETE SCREW (NOT SUPPLIED)

AutoCAD SHX Text
-

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
ML1300 SERIES HEAVY DUTY COMMERCIAL GRADE 1 MORTISE LOCKSET

AutoCAD SHX Text
FRAME

AutoCAD SHX Text
DOOR

AutoCAD SHX Text
CORE

AutoCAD SHX Text
1 11/16" THK. EPS FOAM

AutoCAD SHX Text
LOCK

AutoCAD SHX Text
16 GA. (STEEL) 

AutoCAD SHX Text
HINGE

AutoCAD SHX Text
(8) 4 " x 4 " (4/PANEL STEEL SQUARE HINGES) 12" x 4 " (4/PANEL STEEL SQUARE HINGES) 12" (4/PANEL STEEL SQUARE HINGES) 4/PANEL STEEL SQUARE HINGES) 1.25" x 10" x 0.180" THK. (COLD ROLLED STEEL) HINGE REINFORCEMENT & 1.38" x 6.50" x 1.13" x 0.059" THK. STRIKE PLATE REINFORCEMENT

AutoCAD SHX Text
REINFORCEMENT

AutoCAD SHX Text
REINFORCEMENT

AutoCAD SHX Text
1.50" x 10.00" x 0.099" THK. (12GA COLD ROLLED STEEL) SURFACE BOLT KEEPER REINFORCEMENT

AutoCAD SHX Text
16 GA (STEEL) 16 GA 7.00" x 19.50" LONG GALVANNEALED STEEL CLOSER REINFORCEMENT LONG GALVANNEALED STEEL CLOSER REINFORCEMENT

AutoCAD SHX Text
REINFORCEMENT

AutoCAD SHX Text
(2) 5.00" x 1.50" x 12.00" x 0.067" THK. (COLD ROLLED STEEL) MORTISE LOCK REINFORCEMENT.

AutoCAD SHX Text
(2) 3/8" DIA. SURFACE BOLTS (INACTIVE LEAF) W/ (2) SUPPORTS @ 8" O.C. USING (2) # 12 SMS/SUPPORT

AutoCAD SHX Text
7.00" x 19.50" x 0.069" THK.  (GALVANNEAL STEEL)  (GALVANNEAL STEEL) GALVANNEAL STEEL) ) INACTIVE LEAF REINFORCEMENT  

AutoCAD SHX Text
ASTRAGAL

AutoCAD SHX Text
ASTRAGAL 14GA 2.00" x 95.13" OVERLAP STRIP (BLADE), 16GA EDGE CHANNEL (STILE REINF. GALVANNEAL STEEL) ) 

AutoCAD SHX Text
ASSEMBLY 4.93" x 4.10" x 19.50" x 0.100" THK.

AutoCAD SHX Text
CHANNEL 2.37" x 4.05" x 16.00" x 0.054" THK.

AutoCAD SHX Text
CLIP 1.68" x 4.93" x 10.25" x 0.100" THK.

AutoCAD SHX Text
JAMB EXTENSION 

AutoCAD SHX Text
HARDWARE SCHEDULE

AutoCAD SHX Text
BILL OF MATERIAL

AutoCAD SHX Text
25 3/4" x 31 3/4" WHITE IG INSULATED GLASS UNIT LITE KIT BY NATIONAL GUARD PRODUCTS

AutoCAD SHX Text
SD101546

AutoCAD SHX Text
STEEL

AutoCAD SHX Text
44

AutoCAD SHX Text
1

AutoCAD SHX Text
VIEW WINDOW

AutoCAD SHX Text
25 3/4" x 31 3/4" WHITE IG INSULATED GLASS UNIT LITE KIT BY NATIONAL GUARD PRODUCTS

AutoCAD SHX Text
9100 SERIES MORTISE EXIT DEVICE WITH PANIC DOOR EXIT AND KEYED ESCUTCHEON TRIM

AutoCAD SHX Text
8400 SERIES HEAVY DUTY COMMERCIAL GRADE 1 RIM PANIC DOOR EXIT W/ KEYED ESCUTCHEON TRIM

AutoCAD SHX Text
-

AutoCAD SHX Text
TDI APPROVAL/15-69TX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-69TX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
6

AutoCAD SHX Text
"TIOGA/SPARTAN" OS DOUBLE STEEL DOORS SYSTEM-N.I. OS DOUBLE STEEL DOORS SYSTEM-N.I.OS DOUBLE STEEL DOORS SYSTEM-N.I. DOUBLE STEEL DOORS SYSTEM-N.I.DOUBLE STEEL DOORS SYSTEM-N.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
4


PROJECTION
10 WELDED (4) PLACES MIN.

41/4 -

10
PROJECTION
o O O o WELDED (4) PLACES MIN.
S S——
2
4 /]
EACH END Q‘?
928
7% 1. /
- % . /
[ | N
N N i
]
1 7// |
T7ar ab
=
?;3
—p A 7t
7/ i ‘
n X
?;8
SECTION N-N
Aj rf 1 3/4
12 GA
SPOT WELDED
/_ 4 PLACES
16 GA
21 1/2
18
/— 22

L——S——J aj Lzs/s

WIDTH VARIES TO MATCH FRAME WIDTH.
WIDTH FOR 8 1/4 FRAME SHOWN.

JAMB EXTENSION ASSEMBLY

. +
- +

WIDTH VARIES TO MATCH FRAME WIDTH.
WIDTH FOR 8 1/4 FRAME SHOWN.

— |
0 = 04 |zwe

a

10, 16

1 3/4

JAMB HEAD JAMB CLIP

100 DOUBLE

l

o,

10

65" | NC )

* 17

~—2.125

”

”

-~ 414 - 12 14—

SECTION AW-AW

96” DOUBLE:

L%
4
<
‘ 217 5/8”
Ve 4 21/8
’ ﬁJ
16-GAGE FORMED STEEL
N R P e
0 41/4 =12 /4
(]
28
74
SECTION AV-AV
4 5
0.180" —=||— L
o O
s 4 1/4"=5 3/4
105"
o]
) ©O©
o O 10"
6063—T5 ALUMINUM
il ® ®
o O
il @O@)
o [¢]
o O
O
o O
0.318" —f | |4 552

HINGE REINFORCEMENT
DOOR AND FRAME

7 GA

J

N 3, 34A

W -
Sealed 11/8/16 "“\\awaa™"

f
C

TDI APPROVAL/15—69TX )

a

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

(

|

INC.

1-717—-625-2990 .

LITITZ,

TELL MANUFACTURING,
18 RICHARD DRIVE .

TOLL FREE: 1-800—433-4047 .

FAX: 1-888-370-3253

["TIOGA/SPARTAN"OS DOUBLE STEEL DOORS SYSTEM—N.IJ
PENNSYLVANIA 17543

|

)

by [ description

(revisions:
(no[ date

{

9-23-16

date:
chk. by:

c— >
. .
drawing no.

15—-69TX

EB C.A.N. # 3538



AutoCAD SHX Text
22

AutoCAD SHX Text
SPOT WELDED 4 PLACES

AutoCAD SHX Text
WIDTH VARIES TO MATCH FRAME WIDTH. WIDTH FOR 8 1/4 FRAME SHOWN.

AutoCAD SHX Text
4

AutoCAD SHX Text
JAMB EXTENSION ASSEMBLY

AutoCAD SHX Text
JAMB FLOOR BASE ANGLE CLIP

AutoCAD SHX Text
JAMB HEAD JAMB CLIP

AutoCAD SHX Text
WIDTH VARIES TO MATCH FRAME WIDTH. WIDTH FOR 8 1/4 FRAME SHOWN.

AutoCAD SHX Text
10, 16

AutoCAD SHX Text
16 GA

AutoCAD SHX Text
12 GA

AutoCAD SHX Text
6063-T5 ALUMINUM

AutoCAD SHX Text
3, 34A

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
WELDED

AutoCAD SHX Text
EACH END

AutoCAD SHX Text
N

AutoCAD SHX Text
N

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
WELDED (4) PLACES MIN.

AutoCAD SHX Text
SECTION N-N

AutoCAD SHX Text
17

AutoCAD SHX Text
2

AutoCAD SHX Text
10

AutoCAD SHX Text
4

AutoCAD SHX Text
PROJECTION

AutoCAD SHX Text
WELDED (4) PLACES MIN.

AutoCAD SHX Text
AV

AutoCAD SHX Text
AV

AutoCAD SHX Text
SECTION AV-AV

AutoCAD SHX Text
14

AutoCAD SHX Text
10

AutoCAD SHX Text
14

AutoCAD SHX Text
34

AutoCAD SHX Text
28

AutoCAD SHX Text
AW

AutoCAD SHX Text
AW

AutoCAD SHX Text
SECTION AW-AW

AutoCAD SHX Text
1

AutoCAD SHX Text
17

AutoCAD SHX Text
16-GAGE FORMED STEEL

AutoCAD SHX Text
STRIKE REINF. PROJECTION

AutoCAD SHX Text
WELDED (2) PLACES EACH END

AutoCAD SHX Text
HINGE REINFORCEMENT DOOR AND FRAME 7 GA

AutoCAD SHX Text
TDI APPROVAL/15-69TX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-69TX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
6

AutoCAD SHX Text
"TIOGA/SPARTAN" OS DOUBLE STEEL DOORS SYSTEM-N.I. OS DOUBLE STEEL DOORS SYSTEM-N.I.OS DOUBLE STEEL DOORS SYSTEM-N.I. DOUBLE STEEL DOORS SYSTEM-N.I.DOUBLE STEEL DOORS SYSTEM-N.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
5


42— ” | "_U 5
8 ‘ _‘ " 7/32 2 825" = 2 625" = m T
{ <
. Z Rl<
7 E E_L 7/8 | 1 ? s g2
1, 2 23/32 - &
1 1 59/64 1.562" 1.562" E % g %
o 8lz
C ﬁ 11/16 —‘1 43/64 21 1 8§§ A=
] X
—~{21/8 | 4 | 2 1/8 |— rag =
! ! 1 35/64 16GA 1.375" 1.375" O 5 a m
WIDTH VARIES FROM 4 1/4” T0 12 1/4". 4875 1875 o agg
8 1/4” FRAME SHOWN. 20GA DOOR CHANNEL DOOR SWEEP QRET S
Qepd @
<
METAL BUILDING DOOR FRAME PROFILE TOP CAP x @%% Q
1938" 1.938" < u 52 &
wevn_o
rZo0s @
0.105 - G0
R [~ ° A SR
g{ B TVZ 5 _—I I___r27/64 1/8 41 e ——
= r j_ WIDTH VARIES FROM 4 1/4” TO0 12 1/4". WIDTH VARIES FROM 4 1/4" T0 12 1/4". ? . °
5 3/4 1 45/64 f 9/16 17 4 7/8" FRAME SHOWN. 4 7/8" FRAME SHOWN. § % §|
{ 5/16 o S
[%] -~ |
THRESHOLD (0.105” THICKNESS) JAMB WEATHERSTRIPPING DRYWALL DOOR FRAME MASONRY DOOR FRAME |51 &
S .
6063—T5 ALUMINUM SR -
BOTTOM DOOR SKIN TOP DOOR SKIN e %E )
18GA = O 5
18CGA D = p:8
O -2F
4 — Y
HINGE REINFORCEMENT(4) %" WIRE P 2 % % < SI )it
I MASONRY NOTE: COMBINATION ANCHORS - =8Q
ANGHOR USED AS A STEEL e e
STUD ANCHOR El=Z>T 4
— N — — 2" MAX. / 3/4" MIN . = I>H
- / _[ 5-3/4" JAMB WIDTH ONLY & 190 % & ‘|_
|/ Tl REMOVE NAILING STRAPS § d z Z 4 %
7NN S
i \/ INSIDE BREAK—OFF EJ)=—a P
i CREASE = 2-1/2" STUD | C———————
OUTSIDE BREAK—OFF f )
CREASE = 3-5/8" STUD
NOTE: WIRE ANCHORS LAY
HORIZONTALLY,
LODGED BETWEEN
. % — 11 THE BACKBEND
A L FOAM CORE. WIRE ANCHOR S
i O : DENSITY: 0.733 LB/FT? MASONRY CONSTRUCTION COMBINED ANCHOR 12
1— 9 e) PUNCH & DIMPLE ANCHORING =
LOCK REINFORCEMENT — MIN 2 5
fé RESISTANCE OR PROJECTION I @
WELDS EACH END Q o
> N . 3]
B 35 ’ i
. L — ADHESIVE APPLIED IN CROSSED H&
B PATTERN PRIOR TO SPREADING. oPE AND STRAP ANGHOR 2|®
;PSEYZ F(’:EURREULEPSBPBEzc.PART hasd WELDED TO FRAVE e )
NNy \“ c——————>
<t OF T="\
u ( NOTE: 3/8"% HOLE IS PROVIDED THROUGH FRAME '*"\?‘S """""" 5 ‘,’Jf'-q 0‘ \ e
8 STOP WITH EITHER A COUNTERSINK OR - v} .' Fl)
¥ -+ 2-1/2" MAX. / 1—-1/4" MIN. DIMPLE TO RECEVE ANCHOR BOL - o) ||
DOOR LEAF BOTH SIDES y *J‘ i\ .
....................... 7 . 2
I [ S— — i ASSEMBLY — | PIPE_AND STRAP ANCHOR AVAD AHMAD ™" 9| & 2
EXISTING MASONRY CONSTRUCTION /e dememnee e, e A2 S
\ SPOT WELD, EACH SIDE, EACH CHANNEL. MAX. 2" / MIN. 3/4" 3 % 106516 b 5, _——
(09 %] WELD 1—1/2" FROM EDGE, SPACED 3" APART. O Sz drawing no.
WK beense2 a2 || 15—69TX
N\SSToNAL BN
Sealed 11/8/16 "\\aaaws=~ sheet 6 of 6

EB C.A.N. # 3538



AutoCAD SHX Text
%%UDOOR SWEEP

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
21

AutoCAD SHX Text
1, 2

AutoCAD SHX Text
%%UMETAL BUILDING DOOR FRAME PROFILE

AutoCAD SHX Text
%%UTOP CAP

AutoCAD SHX Text
%%UDOOR CHANNEL

AutoCAD SHX Text
%%UTOP DOOR SKIN

AutoCAD SHX Text
%%UBOTTOM DOOR SKIN

AutoCAD SHX Text
%%UTHRESHOLD (0.105" THICKNESS)

AutoCAD SHX Text
WIDTH VARIES FROM 4 1/4" TO 12 1/4". 8 1/4" FRAME SHOWN.

AutoCAD SHX Text
JAMB WEATHERSTRIPPING

AutoCAD SHX Text
17

AutoCAD SHX Text
20GA

AutoCAD SHX Text
16GA

AutoCAD SHX Text
18GA

AutoCAD SHX Text
18GA

AutoCAD SHX Text
6063-T5 ALUMINUM

AutoCAD SHX Text
11 FOAM CORE. DENSITY: 0.733 LB/FT³

AutoCAD SHX Text
35 ADHESIVE APPLIED IN CROSSED PATTERN PRIOR TO SPREADING. - REZ CURE EP882 PART A & B APPLY PER UL SPEC.

AutoCAD SHX Text
SPOT WELD, EACH SIDE, EACH CHANNEL. WELD 1-1/2" FROM EDGE, SPACED 3" APART.

AutoCAD SHX Text
DOOR LEAF ASSEMBLY

AutoCAD SHX Text
9 LOCK REINFORCEMENT - MIN 2 RESISTANCE OR PROJECTION WELDS EACH END 

AutoCAD SHX Text
4 HINGE REINFORCEMENT(4)

AutoCAD SHX Text
CLOSER REINFORCEMENT

AutoCAD SHX Text
316" WIRE WIRE MASONRY ANCHOR

AutoCAD SHX Text
COMBINED ANCHOR PUNCH & DIMPLE ANCHORING

AutoCAD SHX Text
ANCHOR EXPANDS TO FIT WIDER JAMBS

AutoCAD SHX Text
PIPE AND STRAP ANCHOR EXISTING MASONRY CONSTRUCTION

AutoCAD SHX Text
WIRE ANCHOR MASONRY CONSTRUCTION

AutoCAD SHX Text
PIPE AND STRAP ANCHOR WELDED TO FRAME

AutoCAD SHX Text
NOTE: 3/8"  HOLE IS PROVIDED THROUGH FRAMESTOP WITH EITHER A COUNTERSINK OR DIMPLE TO RECEIVE ANCHOR BOLTS.

AutoCAD SHX Text
NOTE: WIRE ANCHORS LAY HORIZONTALLY, LODGED BETWEEN THE RABBEL AND THE BACKBEND

AutoCAD SHX Text
NOTE: COMBINATION ANCHORS USED AS A STEEL STUD ANCHOR 5-3/4" JAMB WIDTH ONLY REMOVE NAILING STRAPS INSIDE BREAK-OFF CREASE = 2-1/2" STUD OUTSIDE BREAK-OFF CREASE = 3-5/8" STUD

AutoCAD SHX Text
WIDTH VARIES FROM 4 1/4" TO 12 1/4". 4 7/8" FRAME SHOWN.

AutoCAD SHX Text
WIDTH VARIES FROM 4 1/4" TO 12 1/4". 4 7/8" FRAME SHOWN.

AutoCAD SHX Text
DRYWALL DOOR FRAME

AutoCAD SHX Text
MASONRY DOOR FRAME

AutoCAD SHX Text
TDI APPROVAL/15-69TX

AutoCAD SHX Text
chk. by:

AutoCAD SHX Text
revisions:

AutoCAD SHX Text
no date  by description

AutoCAD SHX Text
dr. by:

AutoCAD SHX Text
L.G.

AutoCAD SHX Text
scale:

AutoCAD SHX Text
date:

AutoCAD SHX Text
9-23-16

AutoCAD SHX Text
15-69TX

AutoCAD SHX Text
drawing  no.

AutoCAD SHX Text
sheet   of

AutoCAD SHX Text
6

AutoCAD SHX Text
"TIOGA/SPARTAN" OS DOUBLE STEEL DOORS SYSTEM-N.I. OS DOUBLE STEEL DOORS SYSTEM-N.I.OS DOUBLE STEEL DOORS SYSTEM-N.I. DOUBLE STEEL DOORS SYSTEM-N.I.DOUBLE STEEL DOORS SYSTEM-N.I.

AutoCAD SHX Text
TELL MANUFACTURING, INC. 18 RICHARD DRIVE . LITITZ, PENNSYLVANIA 17543  TOLL FREE: 1-800-433-4047 . 1-717-625-2990 . FAX: 1-888-370-3253

AutoCAD SHX Text
6


	Sheets and Views
	15-69TX-sheet (1)
	15-69TX-sheet (2)
	15-69TX-sheet (3)
	15-69TX-sheet (4)
	15-69TX-sheet (5)
	15-69TX-sheet (6)




